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Eight persons L, M, N, O, P, Q, R and S were born in the
years 1963, 1967, 1976, 1979, 1983, 1987, 1990, and 1997
not necessarily in the same order. They were born in the
places Indore, Raipur, Hydrabad, Pune, Kanpur, Manipur,
Vizag and Noid= not necessarily in the same order. They
were born on the same date i.e. on 17th October. Make
the age calculations as on 17th October Swas 4
years elder to the one born in Pune. The one born in Pune
was born at a gap of 4 persons from P. Number of persons
elder to the one born in Kanpur was one more than that
of number of persons younger to R. R was 8 years elder to
O. Not more than two persons were born between S and
R. The one born in Raipur was born after 1983 but not on
even year. N was born in Indore at a gap of 4 persons from
Q. The one born in Noida was born just before M but not
eldest. Nobody was born between the ones born in Vizag
and Raipur. The person born in Manipur was aged 36
years old. O was not born in Raipur and L was not born in
Kanpur and Manipur. The person born in Hyderabad was
elder to the one born in Kanpu\rD
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Eight persons L, M, N, O, P, Q, R and S were born in the years

‘q‘q, BQ /PUJ’LL 1963, 1967, 1976, 1979, 1983, 1987, 1990, and 1997 not
B necessarily in the same order. They were born in the places

|Q% L\B '\/\ ﬂm Indore, Raipur, Hydrabad, Pune, Kanpur, Manipur, Vizag and

- = ida not necessarily in the same order. They were born on
1979 40 R. Mﬂ-l.:d'as- H&) K%I\flﬁee same date i.e. on 17th October. Make the age

d “a calculations as on 17th Octoker 2019. S was 4 years elder
19gs|36| M & \ i Punelah -

to the one born in PuneXThe one born in Pune was

\q¢?| 32 O ' Kay:Elﬂ born at a gap of 4 persons fron.1 P( Number of
'P V vy persons elder to the one born in Kanpur was one
1490 9 : o —— more than that of number of persons younger to R.
\aqH 2L 6{ R%B'TJ @was 8 years elder to O. Not more than two persons
— were born between S and R('-I'he one born in Raipur

v
S — fune .;Q‘J)A (sc,gg) (qﬁ&g}@ CM) was born after 1983 but not on even yea@ was
. N

born in Indore at a gap of 4 persm& The one

born in Noida was born just before M but not eldest.

Nobody was born between the ones born in Vizag
and Raipur. The person born in Manipur was aged 36

born in Kanpur and Manipur. The person born in
Hyderabad was elder to the one born in Kanpur.
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Who among following person is from Pune?
(a) P (b) Q ( /Td) R(e) O

4

Which of the following statements is true?

(a) M age is 40year (b) N age is 52year (c) O age is 29year

(d) Q age is 24 year ( age is 52 year

YEAR | AGE | PERSON| PLACE
1963 | 56 Hydrabad
1967 | 52 L c
1976 | 43 N~ | Indore
1979 |40 R PNoda
1983 |36 M Manipur
1987 | 82 r:}\xmpur
1990 |29 P Vizag
1997 |22 Q\-ﬂﬂaipm

v/

Four of the following are alike in a certain way and thus
form a group. Which of the following does not belong to

the group?
(a) N.-_Noida (b) M - Kanpur (c) P - Raipur (d) S - Pune
- Noida

o
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There are eight people A, B, C, D, E, F, G, and H. Al
are of different ages.ie 15, 16, 17, 22, 25, 30, 32, and
35 but not necessarily in the same order.

The age of A is divisible by five.The difference between
the age of Aand G is ten.The age difference of B and G
Is same as that of G and A.C's age is a prime
number.The sum of the age of C and D is one more
than the age of F. The age of H is thrice the age
difference of E and F.B is elder than F.

s afed A, B, C, D, E, F, G, 3R HEl Tt 3remr-
e 3 S & 15, 16, 17, 22, 25, 30, 32 3R
35 & ¢ éﬁmmwa‘@r%gﬁrmﬁa’rl

A 3 ur @ fasfad &1 A 3R G 1 I &
aﬁﬂqﬂad{qa%lca‘\TD@rmaﬂﬂw F #
mﬁwm%mﬁmwmmaum%l
H % 31, E 3R F & 31 & 3R & & a7 )
B, F agr%|83¢keaﬁfmarm 3t YR
¥ G ﬁkAaﬁrmmmw‘e‘l
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£ | UF - There are el
ght people A, B, C, D, E, F, G, and H. All
_D | o are of different ages.ie 15,J6)17, 22, 25, and
._% %Q’ but not necessarily in the same order.
. 3% /7 B ot .
z The age of A is divisible by five.The difference between
_ &'? 5 the age of Aand G is ten.The age difference of B and G
E 2 - Is same as that of G and A.C's age is a prime
_H 20 number.The sum of<t¥e age of C and D is one more
than the age of F~The age of H is thrice the age
A2 g%;\gzzs' é@ difference of E and F.B is elder than F.
-0 =10 /\b/@ J
R -4= 10 G0 = ~+ )

A 18)q > 5] 2535 i

H = %g[ E-P)
20 = e
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There are eight friends- Richa, Sunil, Shikha, Shikhar,
Kabir, Kavita, Manju and Manoj are of different ages-
14, 22, 26, 16, 19, 18, 23 and 25 but not necessarily
in the same order.

Shikha's age is a perfect square. Difference between
the ages of Shikha and Shikhar is 9 years. Difference
between Kabir and Manoj's age &Manoj and Richa’s
age is same i.e. Four. Richa's age is not divisible by
both 7 and11.Kavita and Kabir's age difference is 7
years. Difference between Shikha and Sunil's age is
2 years. Sum of the ages of Manoj and Manju is a
erfect square.

A9 AR AT -39 37 & § - 14, 22, 26, 16,
19, 18, 23 3R 25 dfther &Y Al fF vk & FA A
l



http://www.mahendras.org/

/ %ﬂé@ﬂtad ’4,// FOR MORE DISCOUNT VISIT www.mahendras.org & USE PROMO CODE : E14727

Manjw | 19
Mowd | RR -
Kobt' | 248 7
Rido |8 Shakla —Sef
Sk (/28
2k |16 famm
rKa\M\ox [9
Suil | A3 _ (le, 257
Sk 2 _lf'_/l{ Kol —Mamo J = ’-(
S’ Maref Ridk, —
/
uLIK',Z'L

Al1,23D

There are eight friends- %ha, Sufiil, Skikha-Shikhar,
Kabir)qvita, Manju and Manoj are of different ages-

14, 22, 26,(16) 1 W3 and(25)but not necessarily
@ the same order. ~

Shikha's age is a perfect square. Difference between
the ages of Shikha and Shikhar is 9 years. Difference
between Kabir and Manoj's age &Manoj and Richa’s
age is same i.e. Four. Richa’s age is not divisible by
both 7 and11(Kavita and Kabir's age difference is 7
years. Difference between Shikha and Sunil's age is
2 years. Sum of the ages of Manoj and Manju is a
perfect square. ,
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